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QUESTION 1

A customer has several small braches and wants to deploy a WI-FI solution with local management using CAPWAP.
Which deployment model meets this requirement?

A. Autonomous

B. Mobility express

C. SD-Access wireless

D. Local mode

Correct Answer: B

Correct answer is Mobility Express. From Encor Cert guide: "As you might have guessed, it is also possible to move the
WLC even below the access layer and into an AP. Figure 18-7 illustrates the Mobility Express topology, where a fully
functional Cisco AP also runs software that acts as a WLC. This can be useful in small scale environments,such as
small, midsize, or multi-site branch locations, where you might not want to invest in dedicated WLCs at all. The AP that

hosts the WLC forms a CAPWAP tunnel with the WLC, as do any other APs at the same location. A Mobility Express
WLC can support up to 100 APs."

QUESTION 2

Which method is used by an AP to join HA controllers and is configured in NVRAM?
A. stored WLC information

B. DNS

C. IP Helper Addresses

D. Primary/Secondary/Tertiary/Backup

Correct Answer: D

QUESTION 3

What occurs when a high bandwidth multicast stream is sent over an MVPN using Cisco hardware?

A. The traffic uses the default MDT to transmit the data only if it isa (S,G) multicast route entry.

B. A data MDT is created to if it is a (*, G) multicast route entries.

C. A data and default MDT are created to flood the multicast stream out of all PIM-SM neighbors.

D. A data MDT is created to allow for the best transmission through the core for (S, G) multicast route entries.

Correct Answer: D
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QUESTION 4

Which hypervisor requires a host OS to run and is not allowed to directly access the hosts hardware and resources?
A. native

B. bare metal

C.type 1

D. type 2

Correct Answer: D

QUESTION 5

An engineer is implementing a Cisco MPLS TE tunnel to improve the streaming experience for the clients of a video-on-
demand server.

Which action must the engineer perform to configure extended discovery to support the MPLS LDP session between the
headend and tailend routers?

A. Configure the interface bandwidth to handle TCP and UDP traffic between the LDP peers
B. Configure a Cisco MPLS TE tunnel on both ends of the session

C. Configure an access list on the interface to permit TCP and UDP traffic

D. Configure a targeted neighbor session.

Correct Answer: B
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